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Question Number : 1 Question Id : 70819117494 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1,3
The workdone by a gas molecule in an isolated system is given by, W= ;'t-ljzp «kT where x

is the displacement, k is the Boltzmann constant and T is the temperature. a and { are
constants, Then the dimensions of § will be :
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Question Number : 1 Question Id : 70819117494 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 2 Question Id : 70819117495 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two stars of masses m and 2m at a distance d rotate about their common centre of mass in
free space. The period of revolution is :

Options :
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Question Number : 2 Question Id : 70819117495 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
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Question Number : 3 Question Id : 70819117496 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Four identical particles of equal masses 1 kg made to move along the circumference of a
circle of radius 1 m under the action of their own mutual gravitatinnal altraction. The speod
of each particle will be :

Options:
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Question Number : 3 Question Id : 70819117496 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 4 Question Id : 70819117497 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Moment of inertia (M.L) of four bodies, having same mass and radius, are reported as ;

| 1= M.L of thin circular ring about its diameter,

[, =M.L of circular disc about an axis perpendicular to disc and going through the centre,
[;=M.L of solid cylinder about its axis and

[;=M.L of solid sphere about its diameter.
Then :

Options :
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Question Number : 4 Question Id : 70819117497 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 5 Question Id : 70819117498 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

Consider two satellites 5 and S, with periods of revolution 1 hr. and 8 hr. respectively
rwdmgmmmhpﬁﬂnmmﬂmmhﬁﬂmﬂmdm@ﬁnﬂﬁMohﬂﬂmSunm
angular velocity of satellite 5, is :

Options :
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Question Number : 5 Question Id : 70819117498 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 6 Question Id : 70819117499 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Each side of a box made of metal sheet in cubic shape is ‘a’ at room temperature ‘T, the
coefficient of linear expansion of the metal sheet is “o’. The metal sheet is heated uniformly,
by a small temperature AT, so that its new temperature is T+ AT. Calculate the increase in
the volume of the metal box.

Options:
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Question Number : 6 Question Id : 70819117499 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 7 Question Id : 70819117500 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If'Y, K and n are the values of Young’s modulus, bulk modulus and modulus of rigidity of
any material respectively. Choose the correct relation for these parameters.

Options :
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Question Number : 7 Question Id : 70819117500 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 8 Question Id : 70819117501 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[f the velocity-time graph has the shape AME, what would be the shape of the corresponding
acceleration-time graph ?
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Question Number : 8 Question Id : 70819117501 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 9 Question Id : 70819117502 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

n mole ofa perfect gas undergoes acyclic process ABCA (see figure) consisting of the following
processes.

A—-B ’ [sothermal expansion at temperature T so that the volume is doubled from
Vl to V2= ZVl and pressure changes from I"l to Pz-

B=C : [sobaric compression at pressure P'2 to initial volume V I

C—=A . [sochoric changc- Ieading_ to dmangr_- of pressure from F'2 to Pl.

Total workdone in the complete C}-‘CIC‘ ABCA is:
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Question Number : 9 Question Id : 70819117502 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 10 Question Id : 70819117503 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List I with List 11.

List 1 List 11
(a) Isothermal (i) Pressure constant
(b)  Isochoric (ii) Temperature constant
(c) Adiabatic (iii) Volume constant
(d) Isobaric (iv) Heat content is constant

Choose the correct answer from the options given below :
Options :
70819157667. (@) — (i), (b) — (iii), (¢) — (ii), (d) — (iv)

70819157668, (@) — (iii), (b) — (i), (c) — (i), (d) — (iv)

20819157669, @ — (1), (b) — (), (c) — (if), (d) — (i)

70819157670, @) — (i), (b) — (iii), (c) — (iv), (d) — (i)

Question Number : 10 Question Id : 70819117503 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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20819157669, @ — (). (b) — (v), (c) — (if), (d) — (i)



70819157670. (@) — (i1), (b) — (iii), (c) — (iv), (d) — (i)

Question Number : 11 Question Id : 70819117504 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[n the given figure, a mass M is attached to a horizontal spring which is fixed on one side to
a rigid support. The spring constant of the spring is k. The mass oscillates on a frictionless
surface with time period T and amplitude A. When the mass is in equilibrium position, as

shown in the figure, another mass m is gently fixed upon it. The new amplitude of oscillation
will be :
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Question Number : 11 Question Id : 70819117504 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 12 Question Id : 70819117505 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A cell E; of emf 6 V and internal resistance 2 (2 is connected with another cell E, of emf 4 V
and internal resistance 8 () (as shown in the figure). The potential difference across points
XandYis:
Ey

IJ

._|:

2 Y
6V,20 4V,80)

E
r |
'

Options :
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Question Number : 12 Question Id : 70819117505 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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70819157677. 2.6 V

70819157678, 10.0 V

Question Number : 13 Question Id : 70819117506 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A current through a wire depends on time as
i=ogt+pt?

where ay=20 A/s and ;=8 As~2. Find the charge crossed through a section of the wire in
15 8.

Options :

70819157679, 260 C
70819157680, 2100 C
70819157681, 11250 C

70819157682, 2250 C

Question Number : 13 Question Id : 70819117506 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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70819157681, 11250 C

70819157682, 2250 C

Question Number : 14 Question Id : 70819117507 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two equal capacitors are first connected in series and then in parallel. The ratio of the
equivalent capacities in the two cases will be :

Options :

70819157683, 1:2
70819157684, 2+
70819157685, 411
70819157686, 1:4

Question Number : 14 Question Id : 70819117507 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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70819157686, 1:4

Question Number : 15 Question Id : 70819117508 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A cube of side “a" has point charges +Q located at each of its vertices except at the origin
where the charge is — Q. The electric field at the centre of cube is :
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Question Number : 15 Question Id : 70819117508 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
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Question Number : 16 Question Id : 70819117509 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[f an emitter current is changed by 4 mA, the collector current changes by 3.5 mA. The value
of p will be :

Options :

70819157691. 7



70819157692, U-875

70819157693, U-5

70819157694, 3.5

Question Number : 16 Question Id : 70819117509 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 17 Question Id : 70819117510 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



[n the given figure, the energy levels of hydrogen atom have been shown along with some
transitions marked A, B, C, D and E.

The transitions A, B and C respectively represent :

+eV
oo Continuum = g 7
C2 1L =il
n=>s -0 eV
n=4 —0.85eV
n=3 . —151 eV
gl € |p
n=2 : —34eV
A F
n=1 —13.6eV

Options :

The first member of the Lyman series, third member of Balmer series and second member
70819157695. of Paschen series.

The ionization potential of hydrogen, second member of Balmer series and third member
70819157696. of Paschen series.

The series limit of Lyman series, second member of Balmer series and second member
70819157697. of Paschen series.

The series limit of Lyman series, third member of Balmer series and second member of
70819157698, [aschen series.

Question Number : 17 Question Id : 70819117510 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 18 Question Id : 70819117511 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :
Statement I :  Two photons having equal linear momenta have equal wavelengths.

Statement I :  If the wavelength of photon is decreased, then the momentum and energy
of a photon will also decrease.

[n the light of the above statements, choose the correct answer from the options given below.
Options :

70819157699, Both Statement I and Statement Il are true



70819157700 Both Statement I and Statement 1l are false
70819157701. Statement 1 is true but Statement 1l is false

20819157702. Statement 1 is [alse but Statement 11 is true

Question Number : 18 Question Id : 70819117511 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 19 Question Id : 70819117512 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The focal length f is related to the radius of curvature r of the spherical convex mirror by :
Options :

70819157703, /=T
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Fm
70819157706. 2

Question Number : 19 Question Id : 70819117512 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 20 Question Id : 70819117513 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In a Young's double slit experiment, the width of the one of the slit is three times the other
slit. The amplitude of the light coming from a slit is proportional to the slit-width. Find the
ratio of the maximum to the minimum intensity in the interference pattern.

Options :

70819157707, 4:1
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Question Number : 20 Question Id : 70819117513 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :
70819157707, 4: 1
70819157708, 2 * 1
70819157709, 1:4
70819157710, 3 : 1

Physics Section B
SectionId : 708191707
Section Number: 2
Section type: Online
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Number of Questions : 10



Number of Questions to be attempted : 5

Section Marks : 20

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 708191987
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 70819117514 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The coefficient of static friction between a wooden block of mass (.5 kg and a vertical rough
wall is 0.2. The magnitude of horizontal force that should be applied on the block to keep it
adhere to the wall willbe N,

[g=10 ms~2]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 21 Question Id : 70819117514 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

0.5 kg £ 4l dssil e 24 Glofl viromd] B 92 Bud adelis 02 9. edls Bud wd
[rubell (2i2dl) 2 d qe douag wed 4ulmlde coell N [g=10ms 2]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :



5 to 5.001

Question Number : 22 Question Id : 70819117515 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

An unpolarized light beam is incident on the polarizer of a polarization experiment and the
intensity of light beam emerging from the analyzer is measured as 100 Lumens. Now, if the
analyzer is rotated around the horizontal axis (direction of light) by 30" in clockwise direction,
the intensity of emerging light willbe __ Lumens.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 22 Question Id : 70819117515 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

25 2gelloget U121 (srerior A gelletrnll walow e g2z (4as) GuR 2Adid S22 © id [ dus
(2irted?) il (ol wndl il dladt 100 et aeedl e 208 9. ¢ [42 s ylaisr
w g (Ustatdl Eami) A s 30° AL sl adinni sl Baus emer 2ivas 204 8. b yudl
ustell dladr eqien @l

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 23 Question Id : 70819117516 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



A ball with a speed of 9 m/s collides with another identical ball at rest. After the collision,
the direction of each ball makes an angle of 30° with the original direction. The ratio of
velocities of the balls after collision is x : y, where x is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 23 Question Id : 70819117516 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

9 m/s «ll 2wl aUld sl 245 Gl (561) det At el (it (uldu wdd oflat 550 0 ded 2
9. delld e, g5 550 (WElos) (o w0l 307 Al 516l o 9. He ol selidl Al 2l
iy @, sl x

E:S,.l

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 24 Question Id : 70819117517 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A hydraulic press can lift 100 kg when a mass ‘m’ is placed on the smaller piston. It can lift
_ kg when the diameter of the larger piston is increased by 4 times and that of the
smaller piston is decreased by 4 times keeping the same mass ‘m’ on the smaller piston.

Response Type : Numeric
Evaluation Required For SA: Yes

Show Word Count: Yes



Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 24 Question Id : 70819117517 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

w5 edglels 14100 kg A G4l 25 © s 'm’ s/eq] 801 Al [zed 42 s 219 8. E0 A 'm’ /e
2l ol o et 2ol 2412 4 2101 ARAML 208 24 Al el 4R 4 00 HesAH 2 dl
d__ kgsa Gl wil

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 25 Question Id : 70819117518 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
.xz
An inclined plane is bent in such a way that the vertical cross-section is given by y = T

where y is in vertical and x in horizontal direction. If the upper surface of this curved plane
is rough with coefficient of friction p=0.5, the maximum height in cm at which a stationary
block will not slip downward is ___ (M.

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 25 Question Id : 70819117518 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
2

25 gl wda 2l da a2l © 5 ol Ged 20885 y = 5 ol 2l 211, sl y 2L

Geed (Eau 2 x wlEalder (Ban 9. s 210 a5 Audad] Guadl wudl p=05 s el wd waedl
€l ol s (R odls () 3 wb Adl A e Gad cm ¢4l

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 26 Question Id : 70819117519 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A resonance circuit having inductance and resistance 2 x10 4H and 6.28 0 respectively
oscillates at 10 MHz t’roquonq-‘. The value of qualit}-' factor of this resonator is

[7=3.14]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 26 Question Id : 70819117519 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



e 21074 H 24 6.28 0 o2 328l 2l 2414 Y1l 2q1EH WRum 10 MHz Al 21l 4l
flad 52 6. gl Rl el 2ls ¢l [w=314]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 27 Question Id : 70819117520 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

An audio signal v =20 sin 2w(1500t) amplitude modulates a carrier
v.=80 sin 2(100,000t).

The value of percent modulation is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 27 Question Id : 70819117520 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

v, =20 sin 2m(1500t) | 414 (audio) Be+id 245 v, =80 sin 2w(100,000t) i 5¢k42 Rt Su(dRer
AEMBA 52 O, b AEBsed et el

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range



Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 28 Question Id : 70819117521 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

In connection with the circuit drawn below, the value of current flowing through 2 k()
resistoris  x10"%A.

AN
1k0

2k M.

10V
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 28 Question Id : 70819117521 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Al 2 A0 HE2 2 kO 2AAH dddl Hdled He 1074 A,

AAA

1k

A
2 k) \gy

|

]

10V

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 29 Question Id : 70819117522 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

An electromagnetic wave of frequency 5 GHz, is travelling in a medium whose relative electric
permittivity and relative magnetic permeability both are 2. Its velocity in this medium is
%107 m/s.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 29 Question Id : 70819117522 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

5 GHz 29[ &1 215 (Aggeonsty adon sl i (gl wlldldld] (urdleds) 214 s edly
yrliedldl] (wmasdl) oid 2 €1 ddl HEHHl WA O, B el dgL da
x107 m/s 9.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001



Question Number : 30 Question Id : 70819117523 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A common transistor radio set requires 12 V (D.C.) for its operation. The D.C. source is
constructed by using a transformer and a rectifier circuit, which are operated at 220 V
(A.C.) on standard domestic A.C. supply. The number of turns of secondary coil are 24, then
the number of turns of primary are

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 30 Question Id : 70819117523 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

glleateer 4l Hen st 53 ML 12V (D.C) Al vz ud 9. 2hs w2 24 2hs Useseir uRuul
#55 4l D.C. G52 (2alld) eleellsl 218 § 5 o WA 83 220V Al (AC) Wi Ul Al 21
9. o 6L U 24 2icL €A ol welis wiadl v @l

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Chemistry Section A

SectionId : 708191708



Section Number : 3

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 80

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 708191988
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 70819117524 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following are isostructural pairs ?
A. 50,2 and CrO,?

B.  5iCly and TiCl,

C. NH, and NO,

D. BCl; and BrCl,

Options :

70819157721, ‘4 and B only

70819157722, * and Conly

70819157723, © and Conly

70819157724, © and D only

Question Number : 31 Question Id : 70819117524 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

Al it sa unelarelld iy
A. SO 24 CrO2

B. SiCl, 21 TiCl,

C. NH; 24 NO,

D. BCl, #i4 BrCl,

Options :

70819157727, It A LB

70819157722, ¥ A 1 C

70819157723, ¥¥t B C

70819157724, ¥°1C #1D

Question Number : 32 Question Id : 70819117525 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

In Freundlich adsorption isotherm, slope of AB line is :

B

! f}/

|

logP ——
Options :

n with (n, 0.1 to 0.5)
70819157725.

70819157726. log n with (n > 1)

70819157727.



Ingl with (n < 1)
n

2 s \
i “riﬂ] ' l = U to l
I

70819157728. I /

Question Number : 32 Question Id : 70819117525 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

grsdla 2EimeL vudanldi, AB Yul-l 41 2UEL
B

:’.‘/

—>

Im

log

log P ——

Options :

70819157725, 1 A He (0.1 8L 0.5)

70819157726, 1ogn A n > 1

Ingl HWin<l
70819157727. n

. e :
— Wy —=0ul1
70819157728, N n

Question Number : 33 Question Id : 70819117526 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Consider the elements Mg, AL S, P and Sj, the correct increasing order of their first ionization
enthalpy is :

Options :

70819157729, Al <Mg<Si<S5<P

70819157730, Mg <Al<Si<P<S

70819157731, MBS EISRSISE

70819157732, Al<Mg<5<5i<P

Question Number : 33 Question Id : 70819117526 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Mg, Al S, P 244 Si A 241440 dl. duedl s 2u-dlsnel 2i-aiedl4l 4l wedl 54 2lel.
Options :

70819157729, Al<Mg<Si<S<P

70819157730, Mg <Al<Si<P<S

70819157731, Mg <Al<Si<S<P

70819157732, Al<Mg<5<5i<P

Question Number : 34 Question Id : 70819117527 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the [ nﬂowing ore is concentrated using group 1 C}-‘ﬂl‘lid[‘ salt ?

Options :



70819157733, Calamine

70819157734, Malachite

70819157735, ~iderite

70819157736. Sphalerite

Question Number : 34 Question Id : 70819117527 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Ayt T A S 21l Gyl sl A2 2iasioll 58 2ps igel (concentrated) 53l Asi © 7

Options:

= -\'-\.I_ r‘
70819157733, Hie
70819157734, Has1de

] r
70819157735, (Hi8e

- .
70819157736, TR

Question Number : 35 Question Id : 70819117528 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

(A) HOCI+H,0, - H,O*+Cl~ +0,
Choose the correct option.
Options :

70819157737 I-IR‘C?'2 acts as Dxidising agent in equations (A) and (B).



70819157738. H,0, acts as reducing agent in equations (A) and (B).

20819157739. H,0, act as oxidizing and reducing agent respectively in equations (A) and (B).

70819157740. H,0, acts as reducing and oxidising agent respectively in equations (A) and (B).

Question Number : 35 Question Id : 70819117528 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

(A) HOCI+H,0, —» H,0* +Cl~ +0,
(B) L,+H,0,+20H"—2I~ +2H,0+0,
izl [[sey vt s

Options :
20819157737, HHISRELL (A) 24 (B) 4l H,0, ¥ 2335l ol ad 8.

20819157738, HAREU (A) 244 (B) 4l H,0, A Regtrtscl ails =d ©.

:l D"'«. = - i} ] :?-J I -EJ N :l ™y .
20819157730, w{ls2ell (A) 24 (B) il H,0, 24454 2All1821 24 Rttt scll ol ad 9.

20819157740, W52l (A) 2 (B) Hi HyO, 245 (268 2 2AUEH82A sal adls ad .

Question Number : 36 Question Id : 70819117529 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

.‘:‘!.1203 was leached with alkali to get X. The solution of X on passing of gas Y, forms Z.
X, Y and Z respectively are :
Options :

20819157741, <= NalAlOH)], Y=50, Z=AL0,



70819157742, X=AlOH);, Y=50, Z=AL0;2H,0

70819157743, <= AllOH);, Y=CO, Z=AlL0;,

X=Na[Al(OH),|, Y =CO,, Z=ALOxH,0
70819157744, a[Al(OH),] > ,05.0H,

Question Number : 36 Question Id : 70819117529 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ALO, « 2iiesell 4% (4314 (Leaching) 52l X WM A4 9. X Al glo40Ml Ay Y Y12 52l Z 4 8.
X, Y 2 Z g5 2UEL

Options :
70819157741, ' SNBERUC L L= £ =AY

70819157742, X=AlOH);, Y=50,, Z=AL0;.xH,0

70819157743, ~=AlOH);, Y=C0O, Z=AL0;

20819157744, = NalAl(OH)], Y =CO,, Z=Al,0,xH,0

Question Number : 37 Question Id : 70819117530 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The electrode potential of M2+ /M of 3d-series elements shows positive value for :
Options :

70819157745, Fe

70819157746. <0



70819157747, 2P

70819157748, Cu

Question Number : 37 Question Id : 70819117530 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

3d-Aell2l dedldt M2* /M <L desgls WRl4d o dedicss yedl (positive values) 524 © d
8.

Options:

70819157745, Fe

70819157746. €O

70819157747, 2P

70819157748, Cu

Question Number : 38 Question Id : 70819117531 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The major components in “Gun Metal” are :
Options :
70819157749, Cu, Sn and Zn

70819157750, Cu Znand Ni

70819157751, Cu, Niand Fe



70819157752. Al, Cu, Mg and Mn

Question Number : 38 Question Id : 70819117531 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
“oigs dlg ” ([A51es Ag) (Gun metal) 1i vy el AL

Options :

70819157749, Cu Sn #1 Zn

70819157750, Cu, Zn 44 Ni

Cu, Ni i Fe
70819157751.

70819157752, AL Cu, Mg i+ Mn

Question Number : 39 Question Id : 70819117532 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The gas released during anaerobic degradation of vegetation may lead to :
Options :

70819157753, 4icid rain

70819157754. Global warming and cancer

70819157755, Corrosion of metals

70819157756, ©zone hole



Question Number : 39 Question Id : 70819117532 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2 [5r oAl Slzegtordl Ml ARl (18-t AL [Bete g Yo Aell iy Aol »is dzs 8l svil

Options :

70819157753, s 2l

70819157754, A ABPL 24 5342

Qi #1zel
70819157755. g >

70819157756, Ul AUt

Question Number : 40 Question Id : 70819117533 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following compound gives pink colour on reaction with phthalic anhydride in
conc. H,50, followed by treatment with NaOH ?

/@/\/ CHs

HO

QL.

70819157758. OH

Options :

70819157757.



H5C CH,

i

70819157759. HO o

HO CH,

| é

70819157760.

Question Number : 40 Question Id : 70819117533 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

{2 2rdcrmiel s 2isrtedl 0% dig H,S0, 4l 2éal las vaadg ol 244 1 ddl NaOH
A1 Wl seeuell el 1204l 7

Options :

!/J::::f/ﬂx“;fCIh
70819157757, HO

H,
QL
70819157758. OH
CH,

70819157759

HO OH
HO CH,

70819157760



Question Number : 41 Question Id : 70819117534 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Cl I3~\"“~C‘/C} {-\,\%CI ]2 )

What is the major pmduct formed b}-‘ HI on reaction with

CH,
CH,
Options :
CHg
CH;—C—C CH,1
70819157761, CH; H
CH;
CH3 —C—CH—CH,
1 CH,
70819157762. :
CHy,
CH;—C—CH—CHj,
70819157763. CH; 1
CHy—CH CH CHp,—— CHj,4
70819157764, - I

Question Number : 41 Question Id : 70819117534 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



CHz~_ c CHx CH, A1 HI Al L s2el ol Yoo Alusy 2 © 7

/.r’
CH;
Options :
CH,
CHj, c[ C CH,I
70819157761. CH; H
CH,
CHy —C—CH—CHj,4
I CH,
70819157762. .
CH,4
CH;—C—CH—CH,
70819157763, CH; 1
CH, CH CH CH, CH,
70819157764, b '

Question Number : 42 Question Id : 70819117535 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which of the following reagent is used for the following reaction ?
7
CH,;CH,CHy —— CH;CH,CHO
Options :

70819157765, Copper at high temperature and pressure



70819157766. Molybdenum oxide

70819157767. Manganese acetate

Potassium permanganate
70819157768.

Question Number : 42 Question Id : 70819117535 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
CH;CH,CH; ——> CH,CH,CHO Hbat 3t <l uiasial s uliusdl Gudel a4 9
Options :

708191577665. Gl drusid 244 5eUeL Y2 5iuz
70819157766, Wilaedsn s
70819157767, “Pirl #ifee

20819157768, Wlest wibdirie

Question Number : 43 Question Id : 70819117536 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The pmduct formed in the first step of the reaction of

Br

|
CH; —CH, —CH—CH, —CH —CHj; with excess Mg/EtL,O(Et=C,H;) is :
|
Br

Options :

708191577609.



CH;—CH,—CH—CH,—CH—CHj

CH;—CH—CH,—CH—CH,—CHj4

CH,
cr—cn |
70819157770. CH— CHy

CI—I?,—CI—IZ—?I—I—CHZ—ClI—I—CHE

CH; — CHy,— CH—CH;— CH—CH;
70819157771. = z

MgBr
|

CH3CHy— CH—CH,—CH— CH,
|

70819157772. MgBr

Question Number : 43 Question Id : 70819117536 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Br
| i In :
CHy — CH,— CH— CH, — CH — CH; 412 44 431914 Mg/ E,O (Et = C,H,) 418 ubt 53l

|
Br

WML U™ deiss L o] Aluer LAl

Options:
CH,—CH,—CH-—CH;—CH—CH,
CHa—CH—CHp— CH—CH,—CH
70819157769. 3 2 2 3
CH,
cr—cn |
70819157770. CH— CH,

70819157771.



CI—I3—CI—IQ—CI—I—CH2—C|I—I—CH3

CH;—CH;— CH— CH,— CH—CHj

M g Br
|

CH3CHy— CH—CH,—CH—CHj
|

70819157772. MgBr

Question Number : 44 Question Id : 70819117537 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

What is the final product (major) “A’ in the given reaction ?

OH
CH,
CH
s , _ha 5
(major product)
Options:
Cl
CH,
CH
\"“CHB
70819157773.
CH,
CH=CH,
70819157774.
CHj;
CH
\\“CI—I3

70819157775.



CH,
cl
CH,—CH,
70819157776.

Question Number : 44 Question Id : 70819117537 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
2 AL 2l ey (o) “A” 9 97

. OH
CH,
CH )
\‘"“-CHE HCl 7%
(v ~Alusy)
Options:
Cl
CH,
CH
N‘“{143
70819157773,
CH,
CH=—=CH,
70819157774.
CH,
CH
\“‘“CH3
70819157775.

70819157776.



CH,

Cl
CH,— CH,

Question Number : 45 Question Id : 70819117538 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Identify products A and B.

CH,

QI/ " dil. KMnOy CrO;
273 K > A > B
Options :
CH; CH,
r‘!'h. 2 DI—I B .
70819157777. OH O
CHs, CH,
A OH B: OH
70819157778. OH 0
CH; CH;
O™ Y
70819157779, OH O
O 0
[ I
A = OHC =CH.CH.CH; —C-—CH: B> HOOC-—CH,CH:CH,-—C —CH
70819157780. 222 3 oCHCH 3

Question Number : 45 Question Id : 70819117538 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

Aldrd A 24 B 2ol

CH;
Q/ & KMnOy CrO;
TIK > A ¥
Options:
CH, CH,
A OH B:
70819157777. OH O
CH, CH,
A OH B: OH
70819157778. OH O
O™ oY
70819157779. OH O

0 O
I I

A : OHC —CH>CH,CH,—C—CHa B : HOOC—CH,CH-CHy—C—CH
70819157780. 2R 3 S 3

Question Number : 46 Question Id : 70819117539 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



In the [ Gllnwmg reaction the reason wh}-' miela-nitro product also formed is :

NH, NH, NH, NH,
= NO,
Cone. HNO,
s > + =+
Conc. H,50,, 288 K
NO,
NO,
[A] [B] [C]
51% 47% 2%
Options :
70819157781, - I\]H?_ group is highly mela-directive
—NO, substitution always takes place at mela-position
70819157782. - g

70819157783. Formation of anilinium ion

low temperature
70819157784.

Question Number : 46 Question Id : 70819117539 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Al2L 2 UGB He- ) Alusy weL 5L sRe dlE oA © )

NH, NH, NH, NH,
o NO,
Hig HNO,
: + +
g H,S0,, 288 K
NO,
NO,
[A] [B] [C]
51% 47% 2%

Options :

20819157781, — NH, #4¢ 2ic (highly) #er-[Eus ©.



70819157782, Oz (Bt €Ll Heor vl sr Ui 9.

70819157783, @A 2t g (i),

70819157784, 4 A

Question Number : 47 Question Id : 70819117540 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

‘A" and ‘B’ in the following reactions are :

NH,

NaNO,/HCl SnCl,/HCl/H,0*
s (A)

w

KCN
Options :
A e
N,Cl Cl
(A): (B) :
70819157785.
+ —=
N,Cl CHO
(A): (B)
70819157786.
CN L
(A): (B) :
70819157787.

70819157788.



CN CHO

(A) : (B) :

Question Number : 47 Question Id : 70819117540 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Al e M AT 24 B 2Ll

NH,
NaNQ,/HCl snCl,/HCl/H,0*
a 2 : n 3 ; {H]
KCN
Options :
+ == s
N,Cl Cl
70819157785.
+ —
N,Cl CHO
70819157786.
CN Cl
70819157787.
CN CHO

70819157788.



Question Number : 48 Question Id : 70819117541 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List 1 with List 1I.

List I List 11
(Monomer Unit) (Polymer)
(a) Caprolactum (i)  Natural rubber
(b) 2-Chloro-1,3-butadiene (i) Buna-N
(c) Isoprene (i) Nylon 6
(d) Acrylonitrile (iv) Neoprene

Choose the correct answer from the options given below :
Options :

70819157789, (@ = (@), (b) = (ii), (c) — (ii), (d) — (iv)

70819157790. (@) — (iv), (b) — (iii), (c) — (ii), (d) — (i)

70819157791, @) = (i), (b) = (i), (¢) — (iv), (d) — (iii)

70819157792, (@) — (iii), (b) — (v), (c) — (i), (d) — (i)

Question Number : 48 Question Id : 70819117541 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Aol 1A gl 10208 sdll

wadl 1 wdl 11

(M2 i5M) (4gas)
(a) SMicseH (i)  geadlzer
(b) 2-5dlRl-1,3-042s184 (i) oYA-N
(c) 2uduili- (iif) Hdid 6
(d)  =ABdiudda (iv) (il
A2 et [Eseqimigl 2l seaiet uaE s,



Options :
20819157789, (@) = (@), (b) = (ii), (¢) — (iii), (d) — (iv)

20819157790, @ — (v), (b) — (iii), (€) — (i), (d) — (i)

70819157791, @) = (i), (b) = (i), (c) — (iv), (d) — (iii)

70819157792. (a) — (iii), (b) — (iv), () — (i), (d) — (ii)

Question Number : 49 Question Id : 70819117542 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Out of the following, which type of interaction is responsible for the stabilisation of a-helix
structure of proteins ?

Options :
70819157793. vander Waals forces

70819157794. Covalent bonding

70819157795. lonic bonding

70819157796, Hydrogen bonding

Question Number : 49 Question Id : 70819117542 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Ut -1 eferell Gl Hie 12 2aiamigl 54 msieAl weanks G (21l By sedleir
eh)

Options :



70819157793, Umé2 Ald “ll

70819157794, HEHHIVS S

70819157795, WS it

¢ Frfﬂ" 1
70819157796, @3l A

Question Number : 50 Question Id : 70819117543 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I :  Colourless cupric metaborate is reduced to cuprous metaborate in a luminous
flame.

Statement II :  Cuprous metaborate is obtained by heating boric anhydride and copper
sulphate in a non-luminous flame.

In the light of the above statements, choose the most appropriate answer from the options
given below.

Options:

70819157797. Both Statement I and Statement 11 are true

70819157798. Both Statement 1 and Statement 11 are false

70819157799. Statement 1 is true but Statement 11 is false

70819157800. Statement 1 is false but Statement 1l is true

Question Number : 50 Question Id : 70819117543 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



{2 o [l 20l 9.

A 1: uel selidui (luminous flame) LA 54005 Herotlned] syua Wetelizeul Reg U ©,

R I1: A3l seld € el elils 2A4edgds 2 siug Ased 2034 sl 40 Herelle
LUCETETENERS)

Gzl [l 2isei, 1 2uial [Bsedaial wiel s wis 5.

Options:

70819157797 oi, (B 1 2 s 11 20z 9.

70819157798 i, [Ase 1 24 [Ean 11 el 9.

COEE EDRCRITHCETEN | RUIPASS

70819157799.
20819157800, AT ML © et [ 11 4 ©.

Chemistry Section B
Section Id : 708191709
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20
Mark As Answered Required?: Yes
Sub-Section Number : 1
Sub-Section Id : 708191989
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 70819117544 Question Type : SA



Correct Marks : 4 Wrong Marks : 0

4.5 g of compound A (MW=90) was used to make 250 mL of its aqueous solution. The
molarity of the solution in M is xx 10 | The valueofxis . (Rounded off to the
nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 51 Question Id : 70819117544 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

4.5 g aidlsrd A (MW =90) «ll Gueiot 580 cief 250 mL svelld gleaet ot 2uey, gaoml Hall

MAxx107 TS, dixdyd 6, (A5l yolisHi UGS i)
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 52 Question Id : 70819117545 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The coordination number of an atom in a body-centered cubic structure is ___

[Assume that the lattice is made up of atoms.|
Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count : Yes



Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 52 Question Id : 70819117545 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

- o=

g 2 blge U (2R Sl aet) 1AL S-2AL R 24is 9. (ARl dl s deidu 2

YRRl ol © )

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 53 Question Id : 70819117546 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A proton and a Li®* nucleus are accelerated by the same potential. If A;; and A, denote the

: A . . AT
de Broglie wavelengths of Li"* and proton respectively, then the value of 2L s xx1071
}\}"
The value of x is . (Rounded off to the nearest integer)

[Mass of Li** =8.3 mass of proton]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 53 Question Id : 70819117546 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
Hall Wi 48 s el @ L (s uellid (accelerated) 4 8. L3 i Mkl

Sl-ctiodl adandond 2ugsd A 2t A, €L dl h_] dyA 10718, dixdyd 6.
p
(85l yelsHl 16w 2lg) [ L+ 81=83 il 50

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 54 Question Id : 70819117547 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

For the reaction A, — By, the value of the equilibrium constant at 300 K and 1 atm is equal
to 100.0. The value of A G for the reaction at 300 K and 1 atm in | mol l'is — xR, where 1 is
. (Rounded off to the nearest integer)

{R= 5-3.31 J] mol~ 'K ~! and In 10=2.3)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 54 Question Id : 70819117547 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



M4 Ay — BgyHie, 300 K 2411 atm W gt 2645 324 1000 A 23414 8. 300 K 241 atm
WG L AG 4 44 T mol LUl —aR B, el x 9. (sl yellsul UG- )

[R=831] mol ~1K~1 24 In 10=2.3)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 55 Question Id : 70819117548 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

When 9.45 g of CICH,COOH is added to 500 mL of water, its freezing point drops by 0.5°C.
The dissociation constant of CICH,COOH is x x 10 3, The value of x is {Roundr_-d
off to the nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 55 Question Id : 70819117548 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

o412 9.45 g CICH,COOH 1 500 mL {4l G¥eitul 204 9 cui i s1261 (945 0.5°C 4 ot 9. dll
CICH,COOH il Belloret ois xx107 28, dixdyat 8.
(K 11,0 =186 K kg mol ~1] (ie9seit yaiis™i 2B iig)

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 56 Question Id : 70819117549 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

At1990 K and 1 atm pressure, there are equal number of Cl, molecules and Cl atoms in the
reaction mixture. The value of K] for the reaction 'LIj ?LI under the above condilions
is xx 10~ L. The value of x is _ . (Rounded nLI}f to the nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 56 Question Id : 70819117549 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

1990 K i 1 atm £eU8L 43, WAL Bserl CL 219l A4 CLwruigpell 3l Al o.
Clygy= 7{:1(“ Mt e el MRRRAAL N K f 3t ax 1071 0. dladyed .
(rlegseil yellsHl 2B dlg)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 57 Question Id : 70819117550 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The reaction of sulphur in alkaline medium is given below :
The valuesof ‘a”"is . (Integer answer)

(aq)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 57 Question Id : 70819117550 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

H@wrﬂ B |eSELSA HIELHHI MF&E{L A2l 24ie iﬁ
’a’ :} ey {gb;ﬁua wqubt]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 58 Question Id : 70819117551 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Gaseous cyclobutene isomerizes to butadiene in a first order process which has a 'k’ value of
3.3 x10 ) s ~lat 153°C. The time in minutes it takes for the isomerization to proceed 40% to
completion at this temperature is . (Rounded off to the nearest integer)



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 58 Question Id : 70819117551 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

WA 5 M5 AL AL AL o4l o2l sl (isomerizes) 414 5 ol 153°C W,

Kyt 331074 7O, dl 2t er v 40% weeslsrel el s W il uud [dlelu
O, (sl yelisul wbes 2lls si)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 59 Question Id : 70819117552 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Number of amphoteric compounds among the followingis

(A) BeO (B) BaO (C) Be(OH), (D) Sr(OH),
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText



Possible Answers :

5 to 5.001

Question Number : 59 Question Id : 70819117552 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A3 2l Govpyell dellavedldl vt B,
(A) BeO (B) BaO (C) Be(OH), (D) Sr(OH),

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 60 Question Id : 70819117553 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The stepwise formation of [Cu(NH,) 4]2 " is given below :

Cu®* + NH; === [Cu(NH;)*"

[CulNHy) [+ NHy —2= [Cu(NHy), "

. a4 K: +
[Cu(NHa)a ¥ + NH; === [Cu(NH) |

- + K ) &
[LU(NH}J;SF - NHy === [Cu(NHs 34]2

The value of stability constants K, K, K, and K, are 104, 1.58 x 103, 5% 102 and 102
respectively. The overall oquﬂihrmm conqtanfs for di@qocmtmn of [Cu(NH,),J** isx x10~ 2,
The value of x is . (Rounded off to the nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range



Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 60 Question Id : 70819117553 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

[Cu(NH) > l deissiar stise 14 2Atd 9.

Cu?* + NHy == [Cu(NH3)*

Kn y 20
== [Cu(NHz), |

[Cu(NHy)[*" + NHj -

[CuNH)a[** + NH; —2= [Cu(NH, ), [**

[Cu(NHy)s ¥ + NHy === [Cu(NHy), [

-l ['?Hmrrl i HHYU ('btiuw) Hqcﬂ 2] ¥x 10 2 Eﬁ dl x -; BN o e 9. {'ﬁ‘ﬂﬁ-ﬂ

yellsHi 23w 1)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Mathematics Section A
Section Id : 708191710
Section Number : 5
Section type: Online
Mandatory or Optional : Mandatory

Number of Questions : 20



Number of Questions to be attempted : 20

Section Marks : 80

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 708191990
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 70819117554 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

¥

3 | =

Let f: R — R be defined as f(x)=2x-1and g: R — {I} — R be defined as g(x) =

=3

¥

Then the composition function f(g(x)) is :

Options :
20819157811, ©ne-one but not onto

70819157812, onto but not one-one

70819157813 neither one-one nor onto

70819157814. both one-one and onto

Question Number : 61 Question Id : 70819117554 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

-
g | —

B8 f:R S RAf()=2r-14R124g:R ~ {1} >R g(x) = ;gRL A 8. dl

=i

.
Al [@d f(g() 2 -

Options:



70819157811, 2ls-215 © ueL o4y L.
70819157812, “HIM & ULl Bis-25 %,
20819157813, 2ts—245 el 2l 244 < e Al

70819157814, “A5-345 2 M cid ©.

Question Number : 62 Question Id : 70819117555 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let p and q be two positive numbers such that p +q=2 and p4 | q4= 272. Then p and q are
roots of the equation :

Options:

3 . Al
70819157815, ¥~ 2x 1136=0

3 - .
70819157816, ¥ 2x 116=0

'2 j' —
70819157817, ¥ 2x18=0

2 Yy —
70819157818, X 12=0

Question Number : 62 Question Id : 70819117555 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

RIS p i q 2 el O U o2l § 5 ol p+ q=2 2l pt @ =272 U, cll p @i q 2 wellsrel
i oflor 9.

Options :



70819157815, ¥~ 2x 1136=0

— ':} .=
70819157816, ¥ X 116=0

2 : =
70819157817, ¥ 2x+8=0

70819157818.

Question Number : 63 Question Id : 70819117556 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The system of linear equations
3x —2y—kz=10
2x—4y—2z=6
x+2y—z=5m

is inconsistent if :

Options :

70819157819.

70819157820.

k=3 m=+
70819157821.

| e

+3
70819157822, & =% meR

Question Number : 63 Question Id : 70819117556 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
yyut u{lsv el deld

3x—2y—kz=10

2x—4y—2z=6

x+2y —z=5m YA 4 ¢4 dl

Options:

70819157819.

70819157820.

k=3 m=+
70819157821.

U e

+ 3
70819157822, &7 & meR

Question Number : 64 Question Id : 70819117557 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The value of

g, & o0y « 30E & new 1500 4 ME 4 We 5 YOy &b My e
Options :

70819157823, 2'° 1

70819157824, 27 14

70819157825, 2~ 13

~14
70819157826. =



Question Number : 64 Question Id : 70819117557 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
...15(:1 } 2.15{_‘2 3.15{:3 i -15.15{:15 M 14{_‘1 H 1‘4{_‘3 M 14{_‘5 e 1‘4{_‘“ TL'J-CL(-?-{

Options :

16
70819157823, 201

70819157824, 27 14

70819157825, 2~ 13

~14
70819157826. =

Question Number : 65 Question Id : 70819117558 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

.. 2 [ | ;
|\'i!‘.‘i-x+f1.‘:‘i4x+\"§.‘:‘i' x+..m|log,2

If e " satisfies the equation t2-9t+8=0, then the value of

2siny m) .
L Y = e A 0{.1'{_ 15 :
sinx+ y3cosx

Options :

M| =

70819157827.

70819157828. V3

Mo

70819157829.



70819157830, 2V3

Question Number : 65 Question Id : 70819117558 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

S i s PR o AHIALA 53, dl
Chitey [Dixﬁiq N JHIE
sin Xx ﬁcnsx g
Options:
1
70819157827, 2

70819157828. V3

K|

70819157829.

E;'

70819157830.

Question Number : 66 Question Id : 70819117559 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

lj [mej’t_] dt

; 0 ‘
lim————— isequal to:
x—l x

Options :

W

70819157831.



EIENY

70819157832.

1
70819157833, 12

70819157834. 0

Question Number : 66 Question Id

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

J(HL['['\;,."T:] dt

G s
lim : =

x—0 X
Options :
2
70819157831. 3
3
70819157832, ~

1
70819157833. 12

70819157834, °

Question Number : 67 Question Id
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

2 2
; : 4x Fx
The function f(x)= ——

Options :

: 70819117559 Question Type : MCQ Option Shuffling : Yes

: 70819117560 Question Type : MCQ Option Shuffling : Yes

2ginx+ (2x— 1) cosx :



INCreases in [; '-'TJ
70819157835. N

1
decreases in | - ™

-2

70819157836.

1
INCreases in [ oy ;

70819157837.

B3| =

|

decreases in [ 205
70819157838.

Question Number : 67 Question Id : 70819117560 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
. 4x3 — 322 "
(a8 f(x) = o . T (2x— 1) cosx | :

Options:

1 g e
{—, WJ HLY44g .

2

70819157835.

1 oot e
{;f %J HHG ©.
70819157836. -~

| —
L = ;} HL Y4 D,
70819157837. -

Bl s
L e ;} Hl Bed ©.
70819157838. g



Question Number : 68 Question Id : 70819117561 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A scientific committee is to be formed from 6 Indians and 8 foreigners, which includes at
least 2 Indians and double the number of foreigners as Indians. Then the number of ways,

the committee can be formed, is :
Options :
70819157839, 1050

70819157840, 1022

o

70819157841, 260

70819157842, 375

Question Number : 68 Question Id : 70819117561 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

6 olRcld 24 8 [Asallizl 2is 2l datlqs AB 2l 208 8, 5 o/ 2B 24091 2 MRl 214
Mlactld s2ctl el vl (Rl el Ad 9. dl el aBd el ddidl e
8.

Options:

70819157839, 1050

70819157840, 1022

70819157841, 260

70819157842, 975



Question Number : 69 Question Id : 70819117562 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[ff:R — Ris afunction defined by f(x)=[x 1] cos[

1
- J:r,where [-] denotes the greatest
\ F

integer function, then fis :

Options :

70819157843, discontinuous only at x=1

70819157844. discontinuous at all integral values of x except at x=1

70819157845, continuous only at x=1

continuous for everv real x
70819157846. g

Question Number : 69 Question Id : 70819117562 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2x -1

o [E'{EF{I_{: R-=R -'*;ll_f{xj =[x-1] cos( }— ol cquyd §, sl [ ‘-El_b;’ﬁ& CENCER (greatest

r 4

integer function) §4A ©, dl f 2| :

Options :

70819157843, A x=1 AL 2dd &,

20819157844, x=1 Rettadl x <l cusll ereller yeoils Fudl 24000 244d4d ©.

70819157845, HI3 x=1 2ARLYL Hclct &,

70819157846, ClAlsy dlzdlas x Ui Hdd 9.



Question Number : 70 Question Id : 70819117563 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

e -
. =1/ smx+ cosx . s :
dx = asin ll ———— | + ¢, where ¢ is a constant of integration, then

B
V8 — sin 2x \ b )

. pCOSX— SINX
If [——

the ordered pair (a, b) is equal to :
Options:

70819157847, & 1)

70819157848, (1 3)

70819157849, (1 3)

70819157850. (1

Question Number : 70 Question Id : 70819117563 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

s pCOSX— SINX q(sinx+ cosx ) - - S -

Wl [————=dx = asin 1[ ————— | + ¢ 8l c HSAHL 2N Y, dl FHYSA S
V8 — sin 2x b )

(b)y=___

Options:

70819157847, & 1)

70819157848, (1 3)

70819157849, (1 3)

’.‘
70819157850. L



Question Number : 71 Question Id : 70819117564 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The area (in sq. units) of the part of the circle x> +1?>=36, which is outside the parabola

g :
y-=9, is :

Options :

70819157851, 247 + 3V3

70819157852, 247 — 33

70819157853, 127 + 33

21 'I‘,ﬁ

=i

70819157854.

Question Number : 71 Question Id : 70819117564 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

yzad 12 =9 A Al MEI 2UdAl dd a2+ y2 =36 i Wet] ot (Al 2l
AL,

Options :

70819157851, 247 + 343
70819157852, 247 — 33

70819157853, 127 + 33

21 '?,ﬁ

=

70819157854,



Question Number : 72 Question Id : 70819117565 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
The population P=P(t) at time t’ of a certain species follows the differential equation
dpP

- 0.5P — 450. If P(0) =850, then the time at which population becomes zero is :

Options :

loo 9
70819157855. Be

1
;If}gflﬁ
70819157856. ~

log 18
70819157857. Be

2log 18
70819157858.

Question Number : 72 Question Id : 70819117565 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

i e s i dp C e
sl v 2 519 Ay el qadl P=P(t) 21 [dse walswel s 05P — 450 4 Al ©, o
P(0)=850 €14, dl sl e A wud _ udl

Options:

log 9
70819157855. Be

1
;Ingﬁlﬁ
70819157856. ~

log 18
70819157857. Be



ZIOBF 18
70819157858.

Question Number : 73 Question Id : 70819117566 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A man is walking on a straight line. The arithmetic mean of the reciprocals of the intercepts

) 1 .
of this line on the coordinate axes is 1 Three stones A, B and C are placed at the points

(I, 1), (2, 2) and (4, 4) respectively. Then which of these stones is/are on the path of the

man ?
Options :
70819157859, “* only

70819157860, © OPLY

C only
70819157861. §

70819157862, All the three

Question Number : 73 Question Id : 70819117566 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

w5 e Al ol 42 A B, 2L ToAL AL AL Db L HHiR WS 1 9. (G5l

(1,1), (2, 2) i (4, 4) 20000 2153 AL 42631 A, B 24 C vl 2084 8§, dl 241 weail Ul
Al 541/ AL 54 R Al YR 9 )

Options :

70819157859, HA A

70819157860, HA B



70819157861. 1A C

70819157862, il 3BIM

Question Number : 74 Question Id : 70819117567 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The locus of the mid-pnint of the line segment joining the focus of the parabo[a yz =daxtoa

moving point of the parabola, is another parabola whose directrix is :
Options:

70819157863, * =4

da

xr= - —

70819157864 2
70819157865, ¥ =V
da
xX=—
70819157866. 2

Question Number : 74 Question Id : 70819117567 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

e 2 =dar Al AUlM 24 wrddd vael 4ldd Bl addl vvisdl welogal Lisua s olld
waed O, ol [eubist 9,

Options:

70819157863, * =2

X =
70819157864.

o |



70819157865.

70819157866.

Question Number : 75 Question Id : 70819117568 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If the tangent to the curve y=x> at the point P(t, t¥) meets the curve again at Q, then the

ordinate of the point which divides PQ internally in the ratio 1 : 2 is
Options :

70819157867.

70819157868. <"
708191578609.

70819157870. =

Question Number : 75 Question Id : 70819117568 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ol g =2 Al B4 P(t, ) 2AL10-Al 2u8ls dsel #19l Q gl wl, dl PQ 4 1: 2 9jlietv i 2ict: [Aokisr

sl Pgdly-an 8,

Options :

70819157867, ©

70819157868, 2



3
70819157869,

3
70819157870. 2t

Question Number : 76 Question Id : 70819117569 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The equation of the plane passing through the point (1, 2, —3) and perpendicular to the

planes 3x+y—2z=5 and 2x-5y-z=7, is :
Options:

70819157871, 0% Sy +2z+10=0

20819157872, 11x ty +172138=0
D — D=

70819157873, 0% 2V 2 0

70819157874, ox 10y~ 2z+11=0

Question Number : 76 Question Id : 70819117569 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

[ (1,2, —3) wisdl w412 Uctl @il WML Bx +y— 22 =5 ¥l 20— Sy~ 2 =7 A el Hda] wlswel

8.
Options :
70819157871, 0% Sy t2z+10=0

70819157872, 11Xty +172438=0



- Dy =
70819157873, 0% Y 2 0

70819157874, 2% 10y~ 2z +11=0

Question Number : 77 Question Id : 70819117570 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The distance of the point (1, 1, 9) from the point of intersection of the line

X .”;:y 4:2
1 b

and the pIane x+ytz= 17 is

Options :

70819157875, 2v19
70819157876, 192

70819157877, V38

70819157878, 0

Question Number : 77 Question Id : 70819117570 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

: .~ X-3 y-4 z-5 .
(5 (1,1,9) 4 v 1 ="2 = ol wdd x by +z=17 digsbig el v

| ]

9.
Options :

70819157875, 2v19

70819157876, 19v2



70819157877, V38

70819157878, 0

Question Number : 78 Question Id : 70819117571 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

An ordinary dice is rolled for a certain number of times. If the probability of getting an odd
number 2 times is equal to the probability of getting an even number 3 times, then the

pmbabilit}-' of getting an odd number for odd number of times is :

Options :

70819157879. *

70819157880.

70819157881, 16

b | =

70819157882.

Question Number : 78 Question Id : 70819117571 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

5 U WAL 2l Ao S5 2 D, ol 2o HAL 2 duid WLl dousdL 2 4oy Hu
3 ot HleAl Housdl svedl @i, dl 2P vl Py e Wl el HeusAl A

Options :
1

70819157879, 32



70819157880.

70819157881, 16

b=

70819157882.

Question Number : 79 Question Id : 70819117572 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two vertical poles are 150 m apart and the height of one is three times that of the other. If
from the middle point of the line joining their feet, an observer finds the angles of elevation of

their tops to be complementary, then the height of the shorter pole (in meters) is :
Options :

70819157883.

70819157884, >0

70819157885, 20V3

70819157886.

Question Number : 79 Question Id : 70819117572 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

of [A2ldor 2ot 245 oflstll 150 Hlex 2id2 20dd 9 2 25l Glaud oflsd s2di 201 wel 8. o duql
dolliet sseit uirvisel wea gl duedl dadl Geaasiey sidlsiol @, dl Al amdl Gl (et



Options :

70819157883.

70819157884, >0

70819157885, 20V3

70819157886.

Question Number : 80 Question Id : 70819117573 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The statement among the following that is a tautology is :
Options :

70819157887, * (A Vv B)

70819157888.

70819157889, A~ (A—=B)]—=B

70819157890.

Question Number : 80 Question Id : 70819117573 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Al U5l 54 (e et 9 )
Options :

70819157887, * ~ (A VE)



70819157888, * ¥ (A~ B)

70819157889, | A~ (A—=B)]—=B

B—=[AA(A—=B)]

70819157890.
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Number of Questions : 10
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Section Marks : 20
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Sub-Section Id : 708191991
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 70819117574 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

If the least and the largest real values of «, for which the equation z+ «z—1|+2i=0

z£Candi=+-1) has a solution, are p and q respectively: then 4(p® + g?) is equal to
P q resp ) P9 q

Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count : Yes



Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 81 Question Id : 70819117574 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

ot lls38L 2 + ofz 1)+ 2i=0 (26 C 24 i =T ) A Gt @ Al o Al At Al 2434 e 1L
qialls Budl siesip 2 q €, AL 4p> ) =
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 82 Question Id : 70819117575 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Let B, (i=1, 2, 3) be three independent events in a sample space. The probability that only
B, occur is o, only B, occurs is  and only B, occurs isy. Let p be the probability that none of

the events B; occurs and these 4 probabilities satisfy the equations («—2p) p=af and

P(B,)

(B~ 3y) p=2fv (All the probabilities are assumed to lie in the interval (0, 1)). Then D(Bs) is

equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :



5 to 5.001

Question Number : 82 Question Id : 70819117575 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

4RI B, (1=1,2,3) 2 2iger [eatiasiiel 20 [Rus sl 9. Wi B, G5od ddl diousl o, YA B,
Grote cell Uil 24 Aot B, G50 dlell ettty 9. B, WAL 2suel seet 4 G50 el dewadi
p © 2t 21 4 AoudAril, w526l (a—2p) p=ap 8L (B 3y) p=28y 7 A 52 6.

(241 gellsy Aeuae Al 2idd (0, 1) 3 2494 © dx Raskd 9.)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 83 Question Id : 70819117576 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

3 -1 =2
Let P=|{2 0 «f, where acR. Suppose Q=[ g;] is a matrix satisfying PQ =XkI, for
3 -5 0
__k 5 g
some non-zero ke R. If 3= E and Q = 5 then a“+k“isequalto .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :



5 to 5.001

Question Number : 83 Question Id : 70819117576 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

: T
4Rl P={2 0 o sdieeR.
3 -5 0

4l AR5 Q=[ ;] Asts yrieke R WL PQ=KI; o, WAt 8. dl qn= - 5 21 [ =

6, dl o4k =
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 84 Question Id : 70819117577 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Let M be any 3 3 matrix with entries from the set {0, 1, 2}. The maximum number of such

matrices, for which the sum of diagonal elements of MM is seven,is .

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 84 Question Id : 70819117577 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

BRls M 2L o1eL {0, 1,2} A sesial ettell 515 3% 3 AlE1s 9, et Hie MTM Al (A5l sesiql el
Al €y, del Albsidl dedu vl 8,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 85 Question Id : 70819117578 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Let A={neN:nisa3-digit number }

B={9%+2: keN}

and C={9%+]: keN} forsomel (0<]<9)

If the sum of all the elements of the set A (B C)is 274 x 400, thenlisequalto .
Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 85 Question Id : 70819117578 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



QRIS A={ns N :n 2L A6l sl qva1 )
B={9%+2: keN}
A C={9k +1: ke N} 51851 (0 <1< 9) Hi.
AR A M (B U C) Al Gfllsr 8esieAl MUY 274 x 400 ¢, dll=__
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 86 Question Id : 70819117579 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

: ; 1
The minimum value of « for which the equation . | T has at least one

f T L1
solution in ' 0, —|is
2]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 86 Question Id : 70819117579 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

M | _1 l = .l{ i A H ) H W, 7 = Y ™ = N 'y .
s — el ' 0, = | i 2o 2lsl 24 Gd iy, dell o Al e Gua
siny 1= sinx 2

9.



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 87 Question Id : 70819117580 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

d
If I{x Fx = 2)dx = 22, (a > 2) and [x] denotes the greatest integer < x,
d

then _[(x t[x])dx isequalto .

a
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 87 Question Id : 70819117580 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
I d d
ad [ (x| + b - 2)dr =22, (@ > 2) 2 [x] A, e youls < x 2Uld, dl [(x+ [x]) dx
d d

Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count : Yes



Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 88 Question Id : 70819117581 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

If one of the diameters of the circle ¥21 yz 2t~ 6y +6=0is a chord of another circle ‘C’,

whose center is at (2, 1), then its radiusis .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 88 Question Id : 70819117581 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

ol A0 x2 +y2 20— 6y +6=0 AL 51 215 41U 2 5y (2, 1) W olled s adn ‘C ol e i, dl
deagad Boat  ui

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 89 Question Id : 70819117582 Question Type : SA



Correct Marks : 4 Wrong Marks : 0

- = — -5 . - - = =
Let three vectors a, b and ¢ be such that ¢ is coplanarwith 3 and b, 3 - ¢ =7 and
— —3 — ‘: \ & ; M —3 M A
b is perpendicular to ¢, where a =~1 + J 4 k and b = 2i + k, then the value of
|
— — =
2a+b+c| B

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 89 Question Id : 70819117582 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
Al 3 b 2 o A AAUERDI el { A, v p wllanadu®, 5. o =7 W

7

A o oA du 8, el & =g ; kWb < 2] 4 ng‘: T F :h-jﬁ;tﬂ_._
Y14,

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 90 Question Id : 70819117583 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



Il i
: - 1
lim tan JE tan 1l . |I> isequal to .

n—so lr=1 W1+ 1+ 1/

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 90 Question Id : 70819117583 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

j I ' 1 ".L
lim tan zlan_l e s e i o

Nn—oa lTT]- k_]. = 1+ ldzz'l B

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001



